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Multiply by one digit numbers : word problems

1. Beryl owns a smart phone shop. She just ordered 6 shipments of smart phones. In |
each shipment, there are 592 smart phones. How many Smart phones did Beryl order
in all?

2. Marry is the manager of an automobile company. She has worked there for 9 years.
She earns a salary of $260,385 per year. How much money has she earned for this |
past 9 years?

3. Louisa is a marble collector. She has collected 7 jars of marbles so far. Each jar
contains 1, 928 marbles. How many marbles has Louisa collected in all |

4. | ast week, James ordered 7 different kinds of bags of rice. He ordered 7,821 of each
kind of bag of rice. How many bags of rice did he order in total? |

5. Miss Natasha has 7 boxes of paper clips. If each box had 100 paper clips, how many
paper clips are there'in all?

6. A basketball team has 15 players. If there were 9 teams at a tournament, how|/many
players were at the tournament altogether? |

7. Yesterday, the frog princess caught 569 flies. Today, she caught eight times as many

flies as yesterday. How many flies did she catch in all?
8. 125 people attend Charlotte’s birthday party. If each person ate 5 cupcakes, how many

cupcakes did she bake in all?

- 9. Rose is agardener and a florist. Last year, she planted 789 columns of rose flowers,
If each column has 9 roses, how many roses did she plant in all? |

10. If the average weight of a male African elephant is 9,000 pounds, find the weight of
9 male African elephants if they all have the same average weight.
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1. Beryl owns a smart phone shop. She just ordered 6 shipments of smart phones. In |
each shipment, there are 592 smart phones. How many Smart phones did Beryl order
in all? | | _ . | .
To solve this problem, let’s multiply 592 by 6 to get the number of smart phones.

| | 592
x| | [6]
12552

_.So,. Béryl; ordefedi 3_,:552 sfnaft bhoheé in:aII,.
2 :So,. Ma.ry:ha.s eérnéd :$2:343 4.65.for: th.e p.ast. 9 szea.rs_..
3. .So,. Lo.uisga h.as éoljecfed 13.,49.6 rﬁarble:s |n alj.
4 :So; hé or.defed. 54:,747 bagé of ri.cfe i:n tf.atail.
5. .So,. th.e‘re. aré 7OO .paber: cIi.ps .in éll.
6. So.,:.thére: wér.e :135 pl.aye.rs..:
| 7 So she claug.h.t..4,5l.52l fliés. iln. a.l.l...
. 8. So, she baked .625 c.up.cakés inall.

9. So, she planted 7101 roses in all.

10. So, the weight of 9 male African elephant is 81,000 pounds.
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